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1½ ^vFkZ'kkL= dk tud* dgk tkrk gS %&
Who is known as "Father of Economics" -

a) ,Me fLeFk (Adam Smith) b) ek'kZy (Marshall)

c) tsådså esgrk (J K Mehta) d) ihxw (Pigou)

2½ O;fDrxr bdkbZ v/;;u fo"k; gS
Individual unit is study material of -

a) O;f"V vFkZ'kkL=  (Micro Economics)

b) lekf"V vFkZ'kkL= (Macro Economics)

c) mi;ZqDr nksuksa (Both the above)

d) mi;qZDr dksbZ ugha (None of the above)

3½ lkaf[;dh 'kCn dk iz;ksx fd;k tkrk gS &
Statistics word is used for -

a) ,dopu esa (Singular Sense) b) cgqopu esa (Plural Sense)

c) nksuksa esa (In both)

d) mi;qZDr lHkh vlR; (All above are falls)

4½ izkFkfed vkadM+s gksrs gSa %
Primary Data are -

a) izdkf'kr vkadM+s (Published Data)

b) vuqla/kkudÙkkZ }kjk ,df=r vkadM+s (Data collected by researcher)

c) v o c nksuksa (Both a and b)

d) buesa ls dksbZ ugha (None of these)

5½ lexz ds ,d NksVs Hkkx dks D;k dgrs gSa \
A small group of items taken from the population ?

a) tux.kuk (Census) b) jkT; (State)

c) funsZ'k (Sample) d) iz'ukoyh (Questionnaire)

6½ og O;fDr tks vkadM+k laxzg djrk gS] mls dgrs gSa %&
A person who collects data is known as -

a) izn'kZd (Demonstrater) b) x.ukdkj (Enumerator)

c) O;k[;krk (Lecturer) d) vkWijsVj (Operator)

7½ fuEu esa ls dkSu lk fpUg vkdf̀r 5 dks n'kkZrk gS %
According to tally bar, which symbols indicate frequency of 5?
a) | | | |  | | b)  | | | |
c) | | | |   d) buesa ls dksbZ ugha (None of these)

8½ Hkkjr esa izR;sd ---------- izR;sd o"kZ esa tux.kuk gksrh gS &
Census is conducted every .... year in India.
a) nks (Two) b) ikap (Five)

c) nl (Ten) d) ,d (One)

9½ tux.kuk dh fo'ks"krk gS &
Feature of Census is -
a) fuf'pr {ks= (Well defined territory)

b) fu;ferrk (Regularity) c) O;idrk (Universality)

d) mi;ZqDr lHkh (All of the above)

10½ 60 & 100 dk e/; fcUnq gS &
The mid value of 60 - 100 is -
a) 100         b)   60       c)  80     d) 70

11½ vkdM+ksa dk fp=e; izn'kZu dgykrk gS &
Diagrammatic Presentation of data is known as -
a) laxzg.k (Collection) b) laxBu (Organisation)

c) a o b nksuksa d) izLrqrhdj.k (Presentation)

12½ 2011 dh tux.kuk ds vuqlkj Hkkjr esa izfr 1000 iq:"kksa ij
efgykvksa dh la[;k fdruh gS &
The number of women on a thousand men per one in India is
according to the census of 2011?
a) 943 b) 937
c) 927 d) 950
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13½ dsUnzh; izof̀Ùk dh lcls izpfyr eki gS &
Is the most prevalent measure of central tendency
a) ekfè;dk (Median) b) cgqyd (Mode)
c) vkstkbo (Ogive) d) lekarj ek/; (Arithmetic Mean)

14½ 1] 3] 5] 7] 9 dk vadxf.krh; ek/; gksxk &
The arithmetic mean 1,3,5,7,9 will be
a) 5 b) 6 c) 7 d)  4

15½ lekUrj ek/; ds lw=

a) dfYir ek/; (Assumed Median) b) ekf/;dk (Median)
c) dfYir cgqyd (Assumed Mode)
d) dfYir foLrkj (Assumed Range)

16½ dkSu lk ek/; pje ewY;ksa ls izHkkfor gksrk gS\
Which average is most affected by extreme observations?
a) ek/; (Mean) b) ekf/;dk (Median)
c) cgqyd (Mode) d) foLrkj (Range)

17½ dsUnzh; izof̀Ùk ds vUrxZr dkSu ls eki vkrs gS\
Which of the following measures come under central tendency
a) cgqyd (Mode) b) ek/; (Mean)
c) ef/;dk (Median) d) mijksDr lHkh (All of the above)

18½ cgqyd crkb, \ Find Mode
5, 4,5,3,2,6,5,5,4,9,8,5,9,5,5
a) 10 b) 8 c) 5 d) 15

19½ ;fn cgqyd = 16,  ek/; = 20  gS rks ekf/;dk gS &
If mode = 16, Mean = 20, Median will be -
a) 18.6 b) 17.5 c) 15.6 d) 14.5

20½ lglaca/k xq.kkad lnSo gksrk gS &
Correlation coefficient is always -
a) 1 ls vf/kd (More than 1) b) 1 ls de (Less than 1)
c) &1 vkSj $1 ds chp (Between -1 to +1)
d) &2 vkSj $2 ds chp (Between -2 to +2)

esa A D;k gS\

21½ vUrj dksfV jhfr fdldh nsu gS %
Rank difference method is given by -

a) dkyZ fi;lZu (Karl Pearson b) fLi;jeSu (Spearmen)

c) ckÅys (Bowley) d) fQ'kj (Fisher)

22½ dkSu&lk /kukRed <ky gS %
Which is Positive Slope -

a) b) c) d)

23½ tc nks pjksa ds chp ifjoÙkZuksa dk vuqikr lnSo leku jgrk gSa] rks
muds e/; gksrk gS %
When changes between two variables are in same ratio than its
mean is :

a) oØ js[kh; lg laca/k (Curve linear correlation)

b) js[kh; lg laca/k (Linear correlation)

c) 'kwU; (Zero) d) buesa ls dksbZ ugha (None of these)

24½ �f"k fØ;k,¡ fdl {ks= ls lacaf/kr gSa %
Agriculture is related to which sector ?

a) izkFkfed (Primary) b) f}rh; (Secondary)

c) rr̀h;d (Tertiary) d) mi;qZDr lHkh (All of these)

25½ Hkkjr esa 1947 esa jk"Vªh; vk; esa f}rh;d {ks= dk ;ksxnku FkkA
In 1947 the contribution of secondary sector in Indian National
Income was -
a) 20 % b) 16.3 % c) 14.3 % d) 12.3 %

26½ Lora=rk ds i'pkr~ Hkkjr esa fdl vkfFkZd iz.kkyh dks viuk;k x;k \
After Independence, which economics system was adopted in India)
a) iwathokn (Capital) b) fefJr  (Mixed)

c) lektoknh (Socialist) d) buesa ls dksbZ ugha (None of the above)

27½ gfjr Økafr dh 'kq:vkr gqbZ Fkh %
Green revolution began -
a) 1963-64 b) 1968-69 c) 1966-67 d) 1970-71
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28½ ckjgoha iapo"khZ; ;kstuk dh vof/k gS &
The duration of 12th five year plan was -
a) 2012-17 b) 1997-2002 c) 2002-07 d) 1980-85

29½ gfjr Økafr ds tud dkSu gS \
Who is the founder of Green Revolution -
a) bafnjk xk¡/kh (Indira Gandhi) b) eksjkjth nslkbZ  (Morarji Desai)
c) ,e-,l-LokehukFku (M.S. Swaminathan)
d) yky cgknqj 'kkL=h (Lal Bahadur Shastri)

30½ buesa ls udn Qly dkSu gS \
Which of this is Cash Crop -
a) /kku (Paddy) b) dikl  (Cotton)
c) xsgw¡ (Wheat) d) buesa ls dksbZ ugha (None of the above)

31½ �f"k {ks= esa fdl izdkj dh csjkstxkjh ikbZ tkrh gS \
Which type of unemloyment is found in agriculture sector -
a) lajpukRed (Structural) b) vkS|ksfxd  (Industrial)
c) Nqih gqbZ (Disguised) d) f'kf{kr (Educated)

32½ fo'o fu;kZr esa Hkkjr dk fgLlk gS \
Share of India in world export is -
a) 1 izfr'kr ls de (Less than 1 %)
b) 1 izfr'kr  (1 %)
c) 1-7 izfr'kr (1.7 %)
d) 2 izfr'kr ls vf/kd (More than 2 %)

33½ fjtoZ cSad vkWQ bafM;k ds xoZuj gS \
Government of Reserve Bank of India -
a) mftZr iVsy (Urjit Patel) b) okbZ-ch-jsM~Mh  (Y B Reddy)
c) 'kfDrdkar nkl (Shaktikant Das)
d) MkWå eueksgu flag (Dr. Manmohan Singh)

34½ fo'o fu;kZr esa Hkkjr dk fgLlk gS&
Share of India in world export is -
a) 1 izfr'kr ls de (Less than 1 %) b) 1 izfr'kr (1 %)
c) 1-7 izfr'kr (1.7 %) d) 2 izfr'kr ls vf/kd (More than 2 %)

35½ ljdkj }kjk tks dj O;fDr;ksa dh vk; ij yxk;k tkrk gS] og gS \
A tax levied on individual's income by Government is, known as -

a) izR;{k dj (Direct tax) b) vizR;{k dj (Indirect tax)

c) migkj dj (Gift tax) d) lEifÙk dj (Property tax)

36½ vk; dh vlekurk ,ao forj.k dk laca/k fdlls gS \
Who is related to the inequality and distribution of income -

a) lkis{k fu/kZurk (Relative Poverty)

b) fujis{k fu/kZurk (Absolute Poverty)

c) mDr nksuksa ('a' and 'b' both)

d) buesa ls dksbZ ugha (None of these)

37½ eujsxk  dc ls ykxw dh xbZ \  (Manrega was started on -)
a) 2nd Feb 2006 b) 2nd Feb 2005

c) 1st April 2007 d) 1st May 2008

38½ fu/kZurk ekin.M ds vuqlkj] xzkeh.k {ks= esa dSyksjh miHkksx fd;k
tkuk pkfg,A (According to the poverty criteria, calories shoul be
consumed in rural areas -)

a) 2100 dSyksjh (2100 Calories) b) 4200 dSyksjh (2100 Calories)

c) 1200 dSyksjh (2100 Calories) d) 2400 dSyksjh (2100 Calories)

39½ ,f'k;u Mªkek ds ys[kd gS \  (Author of Asian Drama is) -

a) fLeFk (Smith) b) esgrk (Mehta)

c) xqUukj feMZy (Gunnar Myrdal) d) vkFkZj yqbZl (Arthur Louis)

40½ �f"k lk[k dk xSj&laLFkkxr L=ksr gS \
Non-institutionsl source of agricultural credit is -

a) izkFkfed lgdkjh lk[k lfefr;k¡ (Primary co-operative credit committe)

b) O;kikfjd cSad (Commercial Bank) c) egktu (Mahajan)

d) {ks=h; xzkeh.k cSad (Area Rural Bank)

41½ ukckMZ dh LFkkiuk dc gqbZ \ (When was NABARD established) -
a) July 1982 b)  June 1982 c) July 1980 d) July 1984
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42½ ,d lwpd tks fdlh  ns'k ds ekuo fodkl dks ekirk gS \
An index for measuring human development of any country is
known as -
a) PPT b)  SBI c) HDI d) RBI

43½ eqækLQfr dk dkj.k gS & (The resson of inflation is) -

a) ?kkVs dh foÙk O;oLFkk (Deficit financing)

b) tula[;k esa of̀) (Population expansion)

c) lk[k dh ek=k esa of̀) (Increase in credit quantity)

d) mi;qZDr lHkh (All of above)

44½ Hkkjr esa ÅtkZ fuekZ.k dk lcls cM+k L=ksr gS \
Largest energy source in India -

a) dks;yk (Coal) b) rsy (Oil)

c) izk�frd xSl (Natural gas) d) ty (Water)

45½ fo'o i;kZoj.k fnol euk;k tkrk gS \
World environment day is celebrated at -

a) 5 twu (5th June) b) 15 vxLr (15th August)

c) 1 tuojh (1st January) d) 5 flrEcj (5th September)

46½ fo'o esa lokZf/kd tula[;k okyk ns'k gS \
Biggest population country of the world is -

a) Hkkjr (India) b) ikfdLrku (Pakistan)

c) phu (China) d) buesa ls dksbZ ugha (None of these)

47½ fpidks vkanksyu dh 'kq:vkr fdlus dh &
Chipko movement was started by -

a) lqUnjyky cgqxq.kk (Sundar Lal Bahuguna)

b) tokgjyky usg: (Jawaharlal Nehru)

c) egkRek xk¡/kh (Mahatma Gandhi)

d) nknkHkkbZ ukSjksth (Dada Bhai Naoroji)

48½ uhfr vk;ksx dk xBu dc gqvk \

When was NITI Aayog constituted -

a) 1 tuojh 2014 (1st January 2014)

b) 1 twu 2015 (1st June 2015)

c) 1 tuojh 2015 (1st June 2015)

d) 1 vizSy 2015 (1st April 2015)

49½ fduds lw= dks lwpdkad fuekZ.k ds fy, vkn'kZ ekuk tkrk gS \
Whose formula is considered ideal for the construction os index
number ?

a) ik'ps dk lw= (Pasche's formula)

b) fQ'kj dk lw= (Fisher's formula)

c) ySfLi;j dk lw= (Laspeyer's formula)

d) buesa ls dksbZ ugha (None of the above)

50½ lwpdkad dks iznf'kZr djrs gSa \
........................ exhibits index

a) B
01

b) P
01

c) C
01

d) P
10
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